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Time for marking all 100 Questions: 2.00 Hours Maximum Marks: 100
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Note
This paper has Two sections, Section-A General Knowledge of Madhya Pradesh: Q.No. 01 to 50
and Section-B General Mathematics and General Science: Q.No. 51 to 100 .

This question booklet contains 100 questions numbered from 1 to 100 and each question carry
1mark. All questions are compulsory. There is no negative marking.

Tally the number of pages alongwith no. of questions printed on cover page of the booklet.
Also check that question booklet contains the questions of all relevant subjects/topics, as required
and stated above and no repetition or omission of questions is evident.

4. If any discrepancy is found in the Question booklet the same can be replaced with another
correct question booklet within first 15minutes.

5. Before answering the questions please read carefully the instructions printed on the back cover
page of the question booklet and strictly follow them. Indicate your answers by blacking
bubbles carefully only on the O.M.R. Answer Sheet provided.
~

6. Use of any type of calculator, mobile phone or any other electronic equipment and log table
etc. is strictly prohibited.
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Section- A
General Knowledge of

Madbya Pradesh (Q.No.01 to 50)

1. Which of the following literature of
M.P. availed Maximum time in the
Parliament?

(A) Dwarika Prasad Mishra

(B) Balkavi Bairagi

(C) Seth Govind Das

(D) Makhan Lal Chaturvedi

2. Bhagoria Dance is related to which of
the following district?

(A) Jhabua

(B) Khandwa

(C) Dewas

(D) Neemuch

3. Which place in M.P. is known for
maximum extraction of diamond?

(A) In Majhgawan

(B) In Angor

(C) In Umaria

(D) In Salimabad

4. In which district Bandhavgarh
National Park is Situated?
(A) Balaghatt
(B) Mandla
(C) Umaria
(D) Shivpuri

l§'q • 31'

lf~11' em (1lq l;q ~

(JI'.lJ). 01 ~ 50)
1. 1ft'lf ~lT ~ r;. ~ ftHf& d .q ~ fi6~

~lft~Chl(ctT (O;)Ch~q'fJ~~
~ ~ Cfrr ~ 'ff«;n ?
(A) alil:ChI 'SmlG 1Tf~

(B) cstlHChPct~

(C) m anPct~ cm:r
(D) lfRFf 'HWI' ilttG"j

2. ~Iai)il:(u ~ ftfrn" ~ ~ 3uRc:uffN1
Cfrr t -
(A) ~m
(B) ,&0$6(1

(C) ~ ,
(D) ~

3. lf9:f ~ 1l ~ 1m cnJf 3e&f.ld
~~t?
(A) it$itl6(j1l

(B) 3itiR1l

(C) 3",\l:411l

(D) ~Hjitlcstlct-q

(A) cstIH IEOlIG

(B) itO$t'l1

(C) 3itO:t41

(D) 1l1Q(S;f\
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6. Which of the following districts of
M.P. has acute problem of 'Soil
Erosion'?

6. lfMt~&:j1 ~ m~ .q. '~ ~'
tIit flQf'Q \ ~ 3lfUq; t ?

(A) Jabalpur

(B) Morena

(C) Bhopal

(D) Khandwa

(A) \JtCitH9)(

(B) ~

(C) ~

(D) '@OseU

7. Which of the following is Coldest
place of Madhya Pradesh during
winters -

7. :jRdCf)\H .q. lf~SI&:j\ 'C6T~ om
~ f.I"'1f(;jRsid .q. ~ ~4fll ~ ?

(A) Jabalpur

(B) Bhopal

(C) Gwalior

(D) Pachmarhi

(A) \JtCitH9)(

(B) ~

(C) ~ell f(;j it (

(D) qi4Q~j

8. Tapti river originates from - 8. 'dTfft ~ 'C6T~ ~ f.I"'1 f(;jRsid .q ~
(A) Rajpipala cn14fl\ l-
(B) Amarkantak (A) (\\Jtc;ftQHI

(C) (B) 3=(Q{chaCf)
Janapav

CC) \Jt\4\Q\~\
CD) Multai

!i('"d1$CD)

•



12. cqmr ~ ~ (ft;r ~ tit atiaCfl( ~

(ft;r ~ tit lTo.J~ Tp.ff ?

(A) ~,~,~

(B) ~,lf~SI~!lI, a+HSI~!l1

(C) lf~SI~!lI,~, ~

(D) ~~, lf~SI~!lI, 'tf. ~

9. Which state is first in producing 9. '~~' ~ aNI~'1 .qt.f)1'1f11 ~ 'SI'~
'Tendu leaves'? t?
(A) Maharashtra (A) q~t(ll~

(B) Orissa (B) ~
(C) Madhya Pradesh (C) lft(:f ~

(D) Andhra Pradesh (D) 3riu~

10. Which of the following alternatives 10. ~ ••••f{;tf&d ~ ~ aCflWQCflm- .q ~
corresponds of the percentage of the lft(:f~~~ ~.nf{;tCfl ~~~
forest area of M.P. to the State's total

Slfd!lld q.:r ~ ~ ?
geographical area?

(A) 40% (A) 40%

(B) 23.76% (B) 23.76%

(C) 32.95% (C) 32.95 %

(D) None of these (D) None of these

11. Which of the following districts of 11. \lI;H"i~ IrET~~lf~~f.:ll;r~
M.P. is the smallest in terms of .q~ Cb1•••fll ~~mt?
population?

~(A) Datia
(A)

(B) Umaria (B) aqlf<41

(C) Dindori (C) fmfi

(D) Harda (D) lW

12. Which three Indian States were
bifurcated to create three new states
in India?

(A) Orissa, M.P., Bihar

(B) Bihar, M.P., U.P.

(C) M.P., Rajasthan, Bihar

(D) U.P., M.P., West Bengal

12IWPD-MCK -5- Set-A



(A) lfW5l~~1

(B) 3m:m:r

(C) ~

(D) 0'tft~.1~

13. The Hasedo- Bango project is 13. mm -wrr'qR(41~PfI ~~'l?
located at :

(A) Madhya Pradesh

(B) Assam

(C) Kerala

(D) Chhattisgarh

14. Who was the Chief Minister of M.P. 14. ~ ~ ~ \iI'if ~q<fol ~ m, ~
at the time of Surrender of Phoolan lfW5I~~1 ~ tlI&'Iq"5t"i 'Cfli;{ ~ ?
Devi?

(A) ••••hft~l~ cmr
(A) Motilal Vora

(B) Digvijay Singh (B) ~R4~il ~

(C) Shyamacharan Shukla (C) ~~~

(D) Arjan Singh (D) ~~

15. When was the 'Pani Roko Abhiyan' 15. ''QT;ft"itcf;) ~' lfW5I~:t'1 "ij cnGf~
Started in Madhya Pradesh? 'S:mm?
(A) 3rd February, 2001 (A) 03~, 2001
(B) 2nd October, 2000 (B) 02~, 2000
(C) 7thMay, 2001 (C) 07~, 2001
(D) None of these (D) aqU"ffi"ij -« ~ ~

16. Approximately what percentage of 16. ~ c:6t ~ ~'.,;ft\if 'ikQI&4.qrr ~
the country's total Manganese is PohdPfI SCR1:t'ldlfWSC~:t'1"ij ~Cfi~HI t -
extracted from Madhya Pradesh?

(A) 70%(A) 70%
(B) 20%(B) 20%
(C) 50%

(C) 50%
(D) 80%

(D) 80%

12/WPD-MCK -6- Set-A



17. In which district of Madhya Pradesh
one of the regional laboratories of
Forest Research Institute is situated:

(A) Betul

(B) Jabalpur

(C) Indore

(0) Mandla

17. l{R{~~~~-ijq;rWtu~
cIIT~~~~t-

(A) ~

(B) iijaHwt9l(

(C) ~

(D) .•.
iWsHi

associated with
18. Kishor Kumar Samman Samaroh 18. Rh~ih¥"'R ~i::qi~ ~qlil~ ~ t ?

19. Orchha Utsav associated with 19. ~~~t-
(A) Bhopal (A) ~

(B) Khandwa (B) &OS€U

(C) Tikamgarh (C) ilCfiqaj(;

(D) Ujjain (D) ~

(A) Bhopal

(B) Khandwa

(C) Gwalior

(D) Ujjain

20. Which of the following regions of
M.P. accounts for the highest
production of soyabean?

(A) Narmada Valley

(B) Malwa

(C) Bundelkhand

(D) Baster Plateau

(A) ~

(B) &Os€41

(C) a€4If{;jt4(

(D) ~

20. 'tf~ ~ 'Cfil~ ~:rit4IJ1~ 3('QiGCfi

~t-
(A) ~ l.ITtl

(B) qlH€4i

(C) ~H&Os

(D) 'ifm 'Cfil 'tfOR

Set-A12IWPD-MCK -7-



21. Which city of M.P. is in the north of
the line of cancer -

(A) Indore

(B) Rewa

(C) Bhopal

(D) Ratlam

21. 1:fUlSl~~1cnr Ch~'ifll ';fTR~WT~~
.q~-

(A) ~

(B) 00

(C) ~

(D) {{1MI'I

22. Which of the following was the first 22. 1:fUlSl~~1 .q "fIChr~ Chi'ifll ~-mR
National Park established in M.P.? ~mft«:r~ l1<n m -

(A) Madhav National Park (A) muq~~
(B) Kanha- Kisali National Park (B) ~-fChflH\ ~-mR
(C) Bandhavagarh National Park (C) GfT~~-mR
(D) Sanjay National Park (D) ~~~

23. Which region in M.P. is rich in
Manganese Production?

(A) Shahdol

(B) Panna

(C) Chhindwara

(D) Jabalpur

23. 1:fUlSl~~I.q qil;f}\Ji 3("ql~d ~ com
f.tq- WlRsAd .q ~ Chi'ifll ~ ~ ?

(A)
....

~1~sIM

(B) '4m

(C) m""GCln~1

(D) \JiatM9}

Set-A

24. Which Fort of M.P. is known as 24. 1:ft~~ ~ ~'fI" ~~ cnT ''qffif coT
'Zibralter of India'? f~hU(V"G{' ~ ~ ?
(A) Bandhavagarh (A) '""atT~

(B) 3't ffI{il i9(B) Asirgarh

(C) Gwalior (C) iClIWlCC{

(D) Ratangarh (D) {d"ili9

12/wPD-MCK -8-
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27. Name the place where 'Jageshwari 27. lfU4S1~:j1~~~~ \illf\:jec{\ Wit'
devi' Fair.in M.P. is organised: CfiT ~ 3i141~t1 inn t -
(A) Chanderi (Guna) (A) ~(~)
(B) Porasa (Morena) (B) mm(~)
(C) Ghoghra (Sidhi) (C) lirem (~)
(D) Bhander (Gwalior) (D) ~ (.ecl~(H)

25. Brijbhasha iSllotr¥pken in which of
the following distrJcts of Madhya
Pradesh:

(A) Morena

(B) Gwalior

(C) Datia

(D) Bhind

26. In M.P. the famous 'Gujri Mahal' is
situated at -

(A) In Indore

(B) In Gwalior

(C) In Datia

(D) In Shivpuri

28. Which Award / Honour is conferred
by the M.P. Govt. in the field of
classical music?

(A) Kalidas honour

(B) Ikbal honour

(C) Lata Mangeshkar honour

(D) Tulasi honour

25. lft43*~:j1 ~ f.i"",~f(gd -ij ~ ~ ~

-ij~~~~t-

(A) w-rr
(B) .ecl~~(

(C) ~

(D) RTos

26. lft4S1~:n -ij ~~ Id '~~' ~

~t?
(A) 'RR.q

(B) .ecl~~(-ij

(C) ~-ij

(D) alec9fl-ij

28. lfU4S1~:n SI:jlltf"1 WTlf li'rftn ~ ~ -ij
Ch1"1tfl9;('fChH /tfi4I"1 'SIGR cnm t -
(A) C61~Gltf tfi4I"1

(B) $C6iifIH tfUlI"1

(C) MOT 4f\~lch( tfUlI"1

(D) ~ tfUlI"1
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29. Which of the following Project of
M.P. is not covered under Narmada
Valley Development Project?

(A) Indira Sagar Project

(B) Omkareshwar Project

(C) Ravishankar Sagar Project

(D) Maheshwar Jal Vidhyat Project

29. lrUf SIt~~I cfil ~ lfT'i\' fl4C6 1+1q"efNi4 1

-ij f.h:t ~ f& (1 -ij ~ ChT.:rlfi q"41," 011 orit
t?
(A) ~ mlR ql\tiNt01I

n"' ft "'(B) ¥ChI(~cH q 4,'"41

(C) (Pc:t~iCh(mlR qft~Gi01I

(D) q~~cH ~ ~ Ql\41Gi01i

31. Which famous literature of M.P. is 31.
known as 'Indian Soul'?

(A) Makhan Lal Chaturvedi

(B) Harikrishna Premi

(C) Balkrishna Sharma 'Navin'

(D) Bhawani Prasad Mishra

qQUI~1 ~fcm ijSl(lt=a +I Ifi<'4C6lfCfir ~
~ arnqr' ~~~~ 'ft'Rnt?
(A) q IUlO1twt1(01 'Elg4c{l

(B) 8ftf601 mft

(C) lSIltwt,601 ~ '~'

(D) cqqr;ft "St+iTG iff-w

12IWPD-MCK -10- Set-A



33~':-Wtrich"district of M.P. has the least
.areaunder the Paddy Crop?

(A) Balaghat

(B) Morena

(C) Indore

(D) Katni

33. ""WSl~~I~~~.q~ttilf~

a(QI~'" ~t?
(A) !ifIHIt:lla

(B) w.rr
(C) ~

(D) ~

34. Which poet is regarded as the first 34. ~ 'Cf)T"Olf~ 'fufi' enwr.q ~ cnfcf
poet of the 'Riti' period of Hindi q;)~cnfcf~~.q~~t ?
Poetry?

Padmakar
(A) q<;Qlcfi(

(A)

(B) Keshav Das (B) (f):jlct<;lfI

(C) Bhushan (C) ~

(D) Ghananand (D) t:I•••I•••W<

35. After the state of Chhattisgarh came 35. 0'i'fl f(i Ii; ~ a:t ffit ~ 11 3fR ~ lflG,
into existence in which district of 'q'U4S1~:j1ctrr Ch~"'fli ~ t ft:mij ~
Madhya Pradesh is the number of q;lf PcI~tflif(f lJTlf t ?
electrified villages the least?

(A) Sheopur (A) ~

(B) Dindori (B) fm{T

(C) Umaria (C) aQIR<41

CD) Harda (D) &W

36. Which district has the lowest literacy 36. 'q'U4S1~:(1111991 iiT Gt"'410l"'1~ ~
rate in M.P. according to the 1991 ~~iiTm~~~ttilft ?
census?

~(A)
(A) Sidhi

(B) Jhabua
(B) ~3fT

CC) Badwani CC) !if3;ctI::fI

CD) Sheopur CD) ~

12IWPD-MCK -11- Set-A
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39. 'Gyandoot Scheme' which has been 39.
started in the Dhar district of M.P. is: ' "" t ?~ 1'1\('1 it I\it '11 Cf(fT •

(A) A Village Education Scheme (A) ~ '!flTf fiTarr <il \it '11

(B) A series of discourses of Swami (B) lfurr ~ ~ ~ ;<+:Jt4I'1;:c(~ 51Cji.I;(l
Chinmayanand on Gita cfn~~

(C) A project connected with the
(C) ~ m~f.:rq;~T.r.JTwcn-;ftc€t ~

modem information technology
~ qR4l \it '11

(D) A general knowledge
competition (D) ~ '("j1''I1''tt ~ S1ffiitlMdl

37. Shri Prakash Chandra Sethi, became
the Chief Minister of Madhya Pradesh
for the first time in which year :

(A) 1975

(B) 1971

(C) 1969

(D) 1974

38. The River Chambal flows in which of
the following states -

(A) M.P., D.P., Orissa

(B) M.P., Rajasthan, Gujarat

(C) M.P., D.P., Bihar

(D) M.P., D.P., Rajasthan

37. }f~"G"fR~~~~l(~~

~¥i;J\CR~ ?

(A) 1975

(B) 1971

(C) 1969

(D) 1974

38. ~ ~ tfiT ~ f.\1:;t.q ~ ~ ~
.qmmt?

(B) l(UlSI~~I,~, ~{I<'1

(C) l(UjSl~~I, :a'd{S1~~I, ~

Set·A12IWPD-MCK -12-
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40. 'Rajghat dam' is a joint project of the 40. '0<11€W! ~u' f.n:;r-q ~ m~ cfiT
states: • QR4'1<11'11~ ?
(A) U.P. and M.P. (A) 3i'HSI~'1' ~ "q'~S1~'1'

(B) M.P. and Rajasthan (B) "q'UjSl~'11~ ~

(C) M.P. and Gujarat (C) ~~!!G1m1

(D) M.P. and Chhattisgarh (D) "q'UjSl~'11~ 0't'ft~.1~

41. The state which has the maximum 41. cnT.r~~-q MlCh{1\lT~~ 3ia~(1
number of seats reserved for \ir.f ~ c); "ffilt ~ ~ ~~
scheduled tribes in the Lok Sabha 3tTd'a«r ~ ?
is -

(A) Bihar
(A) ~

(B) Gujarat (B) ~;jHl(1

(C) 3'd(S1~'11(C) Uttar Pradesh

(D) Madhya Pradesh (D) "q'Uj51~ '11

42. In Madhya Pradesh "Lohani 42. "q'Uj51~'1' -q 'H 'I~,oft fI fqRI' "ChTlTO'1'~
Committee" is constituted for which -q ~ ~ 5141<11'1~ ~ 'fcn<rr ll<fT ?
of the following purposes?

(A) For area division between M.P.
(A) "q'~~0't'ft~.1~-q~~

~~and Chhattisgarh.

(B) ciT.lIi4t11~~~cfiT ~(B) For recommending sources of
finance for the panchayats. ~~~

(C) For division of Government (C) "q'tcnr~~ It<i lJ~~ c); "q'tCl'

employees between M.P. and (IGfch'ti4 ('1I1~ch'ti4) ChtlT.lIR41 ~
Chhattisgarh. ~~~~

(D) None of the above (D) 3Qihh -q ~ 'ctill ~
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43. Which of the following place in M.P.
is main tourist spot of Buddhist
tradition?

(A) Mandu

(B) Pachmarhi

(C) Sanchi

(D) Khajuraho

43. lf~ ~ ~ ~ q4atfi ~ .-ij.m~
Ulf~~ Cfll'H'11 ~~ ?

(A) ~

(B) QiCQ41

(C) ~

(D) & 'a<I61

44. Highest peak of Malwa plateau is - 44. Q IM €II ~ 'q'OR tift ft Clli£l o:cOtT ~ -
(A) Janapav (A) \It ••••,qlct

(B) Sigar (B) iWm
(C) Siddhbaba (C) fft ;;aau atI
(D) Dhupgarh (D) ~

45. Smallest Sanctuary of Madhya
Pradesh is-

(A) Ken-ghari yal

(B) Orchha

(C) Ralamandal

(D) Nauradehi

45. lf~S1&O\II cnr ~ 'ulGr ~ ~ -

(A) ~,Qf:i~IH
(B) 3ITmT

46. Betwa river originates from - 46. ~~tf)T~~-

(A) Vidisha (A) ~f40\1"
(B) Sanchi (B) ~

(C) Raisen district (C) {1~~'1 ~

(D) Hoshangabad district (D) " . ftwrr~IO\II·liatIG
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47. Number of temples is world famous
in khajuraho -

(A) 17

(B) 21

(C) 25

(D) 27

47. re.4tcdi.tDqIH ~\jIU6j.q.~ ~ ~
RfiH;f\ t?
(A) 17

(B) 21

(C) 25

(D) 27

48. Where is 'Asharfi Mahal' situated? 48. '~ , "'t?~~ .
(A) In Orchha (A) ~.q

(B) In Chanderi (B) ~.q

(C) In Mandu (C) ~.q

(D) In Raisen (D) {I~~;C .q

49. 'State Tree' of Madhya Pradesh is 49. lf~" cnT '~~~' t
(A) ~(A) Banyan

(B) Sacred fig (Ficus religiosa) (B) ~

(C) Indian Rosewood (C) ~

(D) Acacia tree (D) ~

50. Which of the following Prizes/
Honours is not conferred by M.P.
Govt.?

50. lf~" ~{(fil( amW) ~ $'l"'CfmJ /
~i4I"tl.q Cf)';C~1~fUlRw1H~ t ?

(A) Kalidas award

(B) Aryabhatt award

(C) Tansen award

(D) Tulsi award

(B) 3mf~ ~i4I;C

(C) • ('1';C~;C~i4I;C

(D) wmt ~UII;C
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Section- B
General Mathematics &

General Science (Q.No. 51 to 100)
51. (2.0 - 5x2 - X + 7) x (3 - 2x + 4x2) =

1J'Qg • 11'

~U'fI;q4.fO.d ~ ~u••••;q Pct~•••

(sr.lfi. 51 ~ 100)
51. (2.0 - 5x2 - X + 7) x (3 - 2x + 4x2) =

(D) 8.x5-24.0+ 12,x3-15r-17x-21

(A) 8.x5- 24.0 + 12,x3+ 15r - 17x+ 21 (A) 8.x5- 24.:0+ 12,x3+ 15r -17x + 21

(B) 8.x5+24.0+ 12,x3-15r+ 17x+21 (B) 8.x5+ 24.:0+ 12,x3-15r + 17x+21

(C) 8.x5-24.0-12,x3+15r-17x-21 (C) 8.x5-24.:0-12,x3 + 15r-17x- 21

(D) 8.x5- 24.0 + 12,x3-15r -17x- 21

52. Anil's income is 60% more than the 52. ~ cfIT 3i1'~G4l, ~ cfIT ~ ~
income of Sunil. By what percent is 60% ~~ IwfWrcfIT~, ~
Sunil's income is less than Anil' s cfIT~1¥iG4j ~ fcmR Slfihm1 ~ ~ I
mcome,

(A) 40% (A) 40%

(B) 37.5% (B) 37.5%

(C) 42.5% (C) 42.5%

(D) 62.5% (D) 62.5%

53. In an examination 40% marks are 53. ~ '1ffian -ij ~ m~~ 40% 3tcn
required to pass. Rahul gets 185 ~I€I:jilCfi ~ I 'UFf ~ 185 3tcnmRm
marks and fails by 15marks. What are 'Om 15 3fq;l~~itllilT I~
the maximum marks.

3tcn CflfT t ?
(A) 200 (A) 200
(B) 300 (B) 300

(C) 400 (C) 400

(D) 500 (D) 500
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54. Ram bought an Almirah for ~ 6250 54. WJ~~~Hiil{l6250~.q~~
and spent ~ 375 on its repairs. Then 375~~~'Q"{mi~lm
he sold it for ~ 6890. His gain or loss ~ ~(f1ii,{ICfiT 6890 ~ .qn~ I
percent is : ~ ~ ~ ~ ~ cnr SlRt;ju't t :
(A) 10% (A) 10%

(B) 6% (B) 6%

(C) 4% (C) 4%

(D) None of these (D) ~~Cfftt~

55. What will be the amount ~ 8000 for 55. 10% eelfEiCfi;:HIi~;;tl ~ ~ 8000 ~
3 years, compounded annually at 10% 3ri~~~?
per annum:

(A) 10648
(A) 1064.8

10400
(B) 10400

(B)

(C) 10600
(C) 10600

(D) 10248 (D) 10248

56. In what time will ~ 1000 amount to
~ 1331 at 10% per annum,
compounded annually.

56. ~~.q 10% c4jfEiCfiT.lfIi~ot\~
eft ~ ~ 1000~, 1331 ~ m
~I

(A) 3 years (A) 3lfffi

(B) 4 years
(B) 4lfffi

(C) 2 years
(C) 2lfffi

(D) 5 years
(D) 5lfffi
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3 _ Xl _ x2 _10
57. If 36 - 60 - 96 -;- then values of

xI' x2 and Yl are:

(A) Xl = 5, x2 = 8, Yl = 100

(B) Xl = 8,x2 = 5'YI = 100

(C) Xl = 5, x2 = 8, YI= 120

(D) Xl = 8, x2 = 5, Yl = 120

3 4 X2 10
57. <ITa:36 = 60 = 96 =y; ~ XI,X2 CfYI

~ lrr.f ~ :

(A) Xl = 5, x2 = 8, YI = 100

(B) XI = 8, x2 = 5, Yl = 100

(C) XI = 5, x2 = 8, Yl = 120

(D) Xl = 8, x2 = 5, YI = 120

58. Ram alone can finish a work in 58. 'Ulf~~~cnT 12~-ij~
12 days and Shyam alone can do it in ~~~ Imr~cnT~~
15days. If both of them work at it 15~~~cn«rT~ 1<ITa:$:it~m~
together, how much time will they take ~ cnl<fCfit ~ ~ it ~ it.n~cnl<f
to finish it : ~m-m:

27
(A) - days

(A) 27 m-2 2

20
20 m-(B) - days

(B)3 3

18
18 m-(C) - days (C)5 5

19 19 it.f(D) - days (D)4 4

59. The sum of all three angles of any 59. ~ ~ ~ ~ m;fT ~ (fIT <WI
Triangle is : mort:
(A) 1500 (A) 1500

(B) 1800 (B) 1800

(C) 2700 (C) 2700

(D) 3600 (D) 3600
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60. A coin is tossed. What is the 60. ~ ~ ~ 301M~ lR ~ 3tR ~
probability of getting a head : SlI~C6nl ~t ?
(A) 0 (A) 0
(B) 1 (B) 1

1 1
(C) - (C) -

2 2

(D) None of these (D) ~-«citt~

625 441 25~ 625 441 25~
61. Evaluate: 441x 1764 -1:6 25 61. 441x 1764 -1:6 25 ctiTlrr.J t :

65 65
(A) 84 (A) 84

-55 -55
(B) 84 (B) 84

84 84
(C) - (C)55 55

-84 -84
(D) 55 (D) 55

62. The average of all odd numbers upto 62. 100 (f(6 cfit ~ ~3if ctiT3ffi:«ft :
100 is :

(A) 49
(A) 49

(B) 49.5 (B) 49.5

(C) 50 (C) 50

(D) 51 (D) 51
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63. The sum of two numbers is 33 and 63. ~ Gl~m Cfil ~ 33 ~ 3ffi '3-:rcnT
their difference is 15, the smaller 3MR 15*, m~litiT~·iPft:
number is :

(A) 9(A) 9

(B) 12 (B) 12

(C) 15 (C) 15

(D) 18 (D) 18

64. If 3 is the one root of the equation 64. ~ x2_ 8x + k = OenT~~ 3mol,
r-8x + k = 0, then what is the value kenT1:fR~:
of k?

(A) - 15
(A) -15

(B) 9
(B) 9

(C) 15 (C) 15

(D) 24 (D) 24

65. The surface area of a cube IS 65. ~l.r.fenT clSJ)'t! 1734 cm2~, ol~
1734 em", Find its volume? ~~:

(A) 4913 ern' (A) 4913 ern'

(B) 4931 ern' (B) 4931 em"

(C) 4193 ern' 4193 em"
I

(C) i
(D) 4391 ern' (D) 4391 ern' I
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67. A is twice as fast as B and B is thrice 67. ~ A cIIT lTfif B ~ ~ om B cIIT lTfif
as fast as C is. The journey covered C~~~, om ci$lfi~CfiT 54
by C in 54 min. will be covered by B minutes 'ij ~ ctmfT ~, fIT Bcitw
m : <mn CfiT~ cm- 'ij ~ ~ :

(A) 18 minutes
(A) 18 minutes

(B) 27 minutes (B) 27 minutes

(C) 38 minutes (C) 38 minutes

(D) 9 minutes (D) 9 minutes

68. A train is 280 meter long, running 68. ~~~cIIT (WtkU$ 280~~, ~
with a speed of 63 kmIhr will pass a 63 kmIhr rEf ~ ~ ~ ~ CfiT~
tree in : ~'ij'tfR~ ?

(A) 15 see (A) 15 see

(B) 16 see (B) 16 see

(C) 18 see (C) 18 see

(D) 20 see (D) 20 see

11 1 1
66. If 5: x =-:;:125' the value of x is

(A) 15

(B) 20

(C) 25

(D) 35

1 1 1 1 .
66. ~ -: ---= - :-- fITxCFiTltAimT ?

5 x x 125

(A) 15

(B) 20

(C) 25

(D) 35
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69. On selling 17 balls at Rs. 720, there
is a loss equal to cost price of 5 balls.
The cost price of a ball is :

(A) Rs.45

(B) Rs.50

(C) Rs.55

(D) Rs.60

70. A is twice as good a workman as B
and together they finish a piece of
work in 18 days. In how many days
will A alone finish the work.

(A) 18 days

(B) 20 days

(C) 25 days

(D) 27 days

69. 17mitCfiT720~.q.~~ 5mn$

~~$~m;t~tnT~lTG

CfiT~~t :

(A) 45~

(B) 50~

(C) 55~

(D) 60~

70. me:A~B~~~qmf~
~ t, ~ G1;iT 'tten m~ 'tten qmfCfiT
18fa::n.q.llUq;{~tnT~ Am
~CfiT~mt.q.llU~ ?

(A) 18 fa::n.q.

(B) 20 ft.r

(C) 25~

(D) 27 ft.r
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-28 -28
71. The Product of two numbers is - 71. m ~3iT CfiT ~OI'1CfiH 27 t I~27'

-4 ~'G~~ -: tnGf~~If one of the numbers is 9' The other

number is: t:

3 3
(A)

7 (A)
7

5 5
(B)

7 (B) 7

7 7
(C) - (C) -

3 3

7 7
(D) - (D) -

5 5

2 2
72. At a Cricket Match "7 of the total 72. ~ ~ "h -q..~ ~ CfiT "7 'q'J1T

spectators were in a covered place 'ri:i~~ 15000~~-q.ta ~ I
while 15000were in open, The total ~~tiit~t:
number of spectators is :

(A) 25000 (A) 25000

(B) 24000 (B) 24000

(C) 22000 (C) 22000
(D) 21000 (D) 21000
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73. Which of the following is equal to 73. Plq~f{g(11t ~ CflT.:r3670000 ~ ~
3670000. ~:
(A) 3.67 x 106 (A) 3.67 x 106

(B) 36.7 x 106 (B) 36.7 x 106

(C) 367 X 106 (C) 367 X 106

(D) None of these (D) ~~~~

74. Which of the following number is a 74. f.rq 1t ~ cfi\;r lft ~ l{Cn ~ '8lit
smallest number by which 396 must ~ ~ ~ 3961t ~ ~ 1R m-R'be multiplied so that the product

UOI"iCfiH l{Cn ~ em ~ :becomes a perfect square

(A) 2 (A) 2

(B) 3 (B) 3

(C) 9 (C) 9

(D) 11 (D) 11

75. Value of~216X(-343) is: 75. ~216x (-343) ~ lfR ~ :

(A) 42 (A) 42

(B) -42 (B) -42

(C) 40 (C) 40

(D) -40 (D) -40
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76. Heating effectof electric current is
used in:

76. ~um~~~cnr3q'Li).I~
\iI'T(fl t :

(A) Electric motor

(B) Transformer (B) ~14tQiI{iH.q.

(C) Fuse (C) ~.q.

(D) Watt - hour meter

77. Which benefit is not available in the 77. ~~~3q4141.q.c6Rm~~
use of solar cooker : ~?

(A) No environmental pollution (A) q~iq(ul ~~~t

(B) Food is cooked early (B) ~ ~ 'QCfi'ffi t

(C) Nutrients of food are preserved (C) ~~~(ffq~~t

(D) Conservation of fuel (D) lu;r~~~t

78. Ohm is a unit of : 78. ~~~t:

(A) Pressure (A) Glif cnr

(B) Potential difference (B) ~qrr

(C) Resistance (C) ~cnr

(D) Power (D) ~cnr
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79. The nature of image form-ed in
compound microscope is :

79. .~ ll~··~ ~ SlRtRtkt·efft ~ ..
~'%:

(A) Virtual Erect and magnified

(B) Virtual Inverted and magnified

(C) Real Erect and magnified

(D) Real Inverted and magnified

80. Zoological name of modem man is : 80. ~ lIT-rcf cnT mfUT a~lf4cti ';frn '% :

(A) Homoneanderthal (A) ~ f4l{OS(~

(B) Cromagnon (B) ~14$4•••t

(C) Homosapiens (C) QIJilflrqtl~

(D) Australopithecus (D) 3i14H1rq~

81. Trypsin converts : 81. Qq ff1 "1 q RCI fihot CfffiIT '% :
"

(A) Protein into Peptone (A) mm 'ctilQqil"1 .q

(B) Fat into Fatty acid (B) ~'ctil~~.q

(C) Starch into Maltose (C) ~ 'ctilqWG1:;Jt .q

(D) Maltose ingredients (D) "' ~.qq I(t'G I:;Jt .
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82. In which organ ammonia is converted
into urea:

82. ~ 3i1T 1l ~uilf.l~1~ 1l qf{Clfiht
~~:

(A) Liver (A) ~

(B) Pancreas (B) ~:U:II!i'I~

(C) Stomach (C) 31liil!i'l~

(D) Kidney (D) ~

83. Artery is : 83. Qlr.fi ~ t :

(A) Thick walled with valve (A) lITtT~ ~ ~

(B). lITtT~~~

(C) 'Q"ffiWfi ~ Cfi'Q'R ~

(D) ~~~ ..~

(B) Thick walled without valve

(C) Thin walled with valve

(D) Thin walled without valve

84. The main function of Haemoglobin is :

(A) To help in reproduction

(B) To make blood colourless

(C) To destroy bacteria

(D) To transport oxygen
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85. The energy generated. by respiration 85. ~ am~ ~ cnr ~ ~ ~ :
is stored in :

(A) In mitochondria

(B) InA.D.P.

(C) InA.T.P.

(D) In alveoli

(B) It. m. 'Qt. ~

(C) It. 'it. 'Qt. ~

86. The approximate rate of breathing in 86 ~-q. f€.tlfi)~~qlfleiit~~~~:
man IS:

(A) 18 ~Tr5rftt fq;g
(A) 18 times per minute

(B) 18 times per second
(B) 18~>rftt~

(C) 25 times per minute (C) 25 ~ >rftt fq;g

(D) 72 times per minute (D) 72 ~ >rftt fq;g

87. The example of reflex action is : 87. 51RtcHff ~ cnr JGI6(UI ~ :

(A) Beating of heart (A) ~ cnr tli$&i'1i

(B) Blood circulation (B) ~ QRq6'1

(C) Movement of eyelids (C) ~ eiit~ eiitl'T'fit

(D) All the above (D) JQU:m ~

88. Pituitary gland is situated in : 88. fQ~t(G(\W~~ inft ~ :
(A) Brain (A) "1M6&) ~

(B) Reproductive organs (B) ~Wit~

(C) Pancreas (C) ~nW/i~~

(D) Respiratory canal (D) ~~~
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89. Which of the' followings cause
tobacco addiction :

(A) Cocaine

(B) Cafein

(C) Morphene

(D) Nicotine

89. f.p:;f -ij ~ (1ki'~ -eIil ~,swR ~
'QG;T~~ :

(A) ct·)) i€l"1

(B) ~cfi\"1

(C) " 1{cfi\"1

(D) f.t(f)l il"1

90. Renin is secreted from: 90. w.Rcnr~~~~~ :
(A) Small intestine (A) mcft~
(B) Testis (B) ~

(C) Liver (C) ~

(D) Stomach

91. The process of photosynthesis takes 91. ~e~qUI~~~~:
place in:

(A) ~..mn-ij
(A) All the plants

(B) ~ SlIfihtl,-ij
(B) All the animals (C) ~~..mn-ij
(C) All the green plants (D) ~ ~ it!~ SllfOl41-ij

(D) Only in brown coloured animals

92. Which of the following is not a
heterotroph :

(A) Algae

(B) Fungi

(C) Cow

(D) Dog

(A) ~

(B) ~

(C) TWf

(D) ~
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94. Which hormone produces seedless
fruits without fertilization :

(A) Auxin

(B) Gibberelin

(C) Flowering hormone

(D) Ethylene

94. ~ ~ am ftr;rr ~~tI'1 ~ ~ ~

~~>mf~~~t:
(A) 3'C1M:1'1
(B) fGti~'1

(C) ~ ~1('i1'1

(D) l~

95. Which gland secrete oxytosin : 95. 3'CIcR'f,itfu'1 m- ~ ~ ~tlWHlI t
(A) Thyroid (A) ~1$U$g

(B) Thymus (B) ~

(C) Pituitary (C) fQ~<t\G{l
(D) Adrinal (D) 1t41'1H

96. Pollengrains are formed in : 96. qUalCfiOI ~ t :

(A) Ovary (A) 3'Cogl:tl~ -ij

(B) Anther (B) ') -ijqWIChitt

(C) Filament (C) ~-ij

(D) Stigma (D) ~ filch I -ij



97. When an objeet.iseplaced in.between
focus and centre of curvature of
concave mirror, the image is :

(A) Inverted virtual and magnified

(B) Inverted real and magnified

(C) Erect virtual and magnified

(D) Inverted real and small

98. Total reflection of light is not possible
when light enters :

(A) Glass to water

(B) Water to glass

(C) Water to air

(D) Glass to air

97. '\iPf~~~ ~GtiuT~ q:)ICfift
~~~~$.q-mft~tm
~ 51fi1fiu.at Gr.«Il t :-
(A) ~ 3mmiT(fm ~
(B) ~ €41R1R:1Cfi(fm~

(C) "{ftUT 3mmiT"m ~
(D) ~ €41R1R:1Cfi(fm ~

98. 'S4"Cfi'm 'CfiT~ q(l€4d:t ~ -:rtf t 'iIif
mnm~t:
(A) ~ ~ -qr;fi .q
(B) -qr;fi ~ ~ .q
(C) 1IT-ft ~ 1crT.q

(D) ~ ~ 1crT.q

99 When an object is placed at 2f 99. '\iPf ~ ~ ~ ~ ~ 2f~ 1:1'{m
distance of convex lens, its imagewill ~ t it ~ S1fi1fi1kC If:t'ffi t :
be formed:

(A) ~.q
(A) Infinite

(B) On2f (B) 2f1:l'{

(C) Onf (C) f1:l'{

(D) In between f and optical centre (D) f ~ S4CfilaH1 ~~~.q

100. Which of the following is used to
remove Myopia in eyes:

(A) Concave lens

(B) Concave mirror

(C) Convex lens

(D) Convex mirror

100. 3msit .q ~ ~ m (:I€4I(OI ~ ~
f.n:f .q CfIT;r -m 3q~al .q (WfRT ~ I

(A) ~~

(B) ~GtiUT

(C) ~~

(D) ~GtiuT'
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SEAL
INSTRUCTIONS REGARDING METHOD

OF ANSWERING QUESTIONS

(Please use Black ball-point Pen)

1. Method of Marking Answers:
To answer a question, please darken one
bubble out of the given four, in the OMR
Answer Sheet against that question.

2. Valuation Procedure :
There are four alternative answers to a
question, only one of them is correct. One
mark will be awarded for each correct
answer, if more than one bubble are
darkened for a question, it will be
presumed that the candidate does not know
the correct answer hence, no mark shall
be awarded.

3. Cancellation or Change in Answer:
It will not be possible to change the marked
bubble with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it on OMR Answer Sheet.

4. Handing over of Answer Sheet to
Invigilator :

(i) Please ensure that all entries in the
answer sheet are filled up properly i.e.
Name, Roll No., Signatures,
Question Booklet No. etc.

(ii) CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFfER THE
EXAMINATION.

5. Care in Handling the Answer Sheet:
While using answer sheet adequate care
should be taken not to tear or spoil due to
folds or wrinkles.
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